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MATHS

BOOKS - S CHAND MATHS (ENGLISH)

MODEL TEST PAPER -5

1.Let n(A) = 6 and n(B) = p . Then , the total number of non -

empty relations that can be defined from Ato B is

A. 67

B.nP+1

C.6p—1
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https://dl.doubtnut.com/l/_lMJCYckdJWx9

D. 201

Answer: A

° Watch Video Solution

2.let A= {z:2° — 5z + 6 = 0}, B = {2,4} = {4, 5} then
Ax (BNQC)is

A{(2,4),(3,4)}

B.{(4,2), (4,3)}

C.{(2,4),(3,4),(4,4)}

D.{(2,2), (3,3), (4,4), (5,2)}

Answer: A
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3.InAAABC ,ifa=2,b=3andsin A4 = 3 then ZB is (a)
90° (b)80° (c)110° (d)140°
A.90°
B.80°
C.110°

D. 140°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yCEucpTIoXt4
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4, The value of
cos(35° + A)cos(35° — B) + sin(35° + A)sin(35° — B)
is equal to (i) sin(A + B) (ii) sin(A — B) (iii) cos(A + B)
(iv) cos(A — B)

A.sin(A + B)

B.sin(A — B)

C.cos(A + B)

D.cos(A — B)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_i1d4f6704zmI
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5. The argument of the complex number <§ — 7) is equal
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Answer: A

o Watch Video Solution

6.1f 1 — I is a root of the equation z? + ax + b = 0 where

ab € R then value of ais


https://dl.doubtnut.com/l/_dCH0HGISoPi5
https://dl.doubtnut.com/l/_cXX3PYlg2Z6O

B.2

C.O

D. none of these

Answer: A

o Watch Video Solution

7. In how many ways a committee consisting of 3 men and 2

women can be chosen from 7 men and 5 women?

A.45

B. 350

C. 4200


https://dl.doubtnut.com/l/_cXX3PYlg2Z6O
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D. 230

Answer: B

° Watch Video Solution

8. Seven different letters are given. Then the number of ways

in which , words of 5 letters can be formed such that atleast

one of the letters is repeated is

A. P(7,5)

B. 14287

C.7°

D. 5’

Answer: B


https://dl.doubtnut.com/l/_s8KTsEdX4mD2
https://dl.doubtnut.com/l/_jtCyrk3MtPPv

o Watch Video Solution

9. Find the equation of the line , which is perpendicular to x -

axis and a distance of 3 units from left of the origin is

Az =3
B.y= —3
Cx= —3
D.y =3
Answer: C

° Watch Video Solution

10.Let f(x) =« — [z], x € R then f<%)is



https://dl.doubtnut.com/l/_jtCyrk3MtPPv
https://dl.doubtnut.com/l/_rLFrSA5cklbF
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Al

B.O

C.—1

D. none of these

Answer: A

o Watch Video Solution

M. Find the length of intercept on the straight line

2z —y = 5 bythecirclez® +y* — 6z + 8y — 5= 0

° Watch Video Solution



https://dl.doubtnut.com/l/_t3lBc2jeOdlC
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12. If three geometric means inserted between 1 and 256 ,

then find the common ratio

° Watch Video Solution

13. Evaluate: lim 2z
z— —1 [;c]

° Watch Video Solution

14. A bag contains tickets numbered 1to 20 . Two tickets are
drawn at random , Find the probability that sum of the two

numbers on the tickets is even .

o Watch Video Solution
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15. In the binomial expansion of (a — b)", n > 5 the sum of

the 5th and 6th term is zero , then find %

° Watch Video Solution

16. For any  sets X and Y  prove

P(X)UP(Y) C P(XUY)

that

° Watch Video Solution

17.Find the domain and the range of the relation R given by

6
R={(x,y):y::r:+;,wherexy€Nand:1: < 6}

o Watch Video Solution



https://dl.doubtnut.com/l/_RzCpCMK86MFY
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18. Evaluate : sin2<% + %) — sin2(z _ f)

° Watch Video Solution

19. Find the length of an arc of a circle of radius 75 cm that

spans a central angle of measure 126°

o Watch Video Solution

20.1f§ = — 400° , determine then the sign of sin 6 + cos 6

o Watch Video Solution



https://dl.doubtnut.com/l/_GrX8e8n611IW
https://dl.doubtnut.com/l/_U6LR4wkzda5M
https://dl.doubtnut.com/l/_IBp4BavMbKSU

21. For a positive integer n , find the value of

(1-— z’)"(l - %)n

o Watch Video Solution

22. If sina and cos a are the roots of az? +bx +¢c = 0 ,

then find the relation satisfied by a,b and c.

o Watch Video Solution

24+ +2
2+ +1°

23. A real valued function is given by f(x) =

find its domain and range .

° Watch Video Solution



https://dl.doubtnut.com/l/_thauuqWEQusA
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24.5olve: tanx + secx = 1( — 180° < z < 180°)

o Watch Video Solution

25. Prove that cos( - ) + cos (% ) + cos( = ) = — =
. Frove at CoS 7 COS 7 COS 7 = 9

° Watch Video Solution

26. Using mathematical induction, to prove that
1-1142-214+33!'+.... +n-nl=(n+1)! -1, for

alln e N

° Watch Video Solution



https://dl.doubtnut.com/l/_wRXhUDqlfL1V
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27. Differentiate by 1°* principal f(z) = tan(1 — 2z)

° Watch Video Solution

2 —+/3cosx —sinx
28.Evaluate lim \/_ .

T (6z — 7)°

o Watch Video Solution

b c
, , are
at+c’ c+a’ a+bd

29.1f a2, b, tare in AP, pove that

in AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_8sXXVX6IJmvc
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https://dl.doubtnut.com/l/_B4JVyRHk8o78

30.In an infinite geometric progression , the sum of first two
terms is 6 and every term is four times the sum of all the
terms that follow it . Find (i) the geometric progression and

(ii) its sum of infinity .

o Watch Video Solution

31.If one root of the quadratic equation az?® + bz +c = 0 is
equal to the n™ power of the other root , then show that

(ac")ﬁ + (a"c)"i_1 +b=0

o Watch Video Solution

32. Sketch roughly the lines satisfying the given consition

and write its equation angle of inclination = 150° and


https://dl.doubtnut.com/l/_D2PC188mY0uH
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distance from the origin = 3 units .

° Watch Video Solution

33. Show that the circles
2 +y? — 2z —4y —20 =0 and 2% + y* + 6z + 2y — 90 =
touch each other . Find the coordinates of the point of

contact and the equation of the common tangent .

o Watch Video Solution

34. The weights of a coffee in 70 jars are shown in the

following table .

Weight uujgrams) | 200-201 | 201-202 202-203 | 203 204 | 204-205 | 205-206
.__.“I-‘rcqucncy' 13 27 18 10 1 1

.Determine

variance and standard deviation of the above distribution.
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I o Watch Video Solution

1. The sum of the distance of the any point on the ellripse

3z% + 4y® = 24 from its foxi is

A 4

B. 4+/2
C.8v/2
D.2+/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LEe01dk8BCs9
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IB2 y2

2. The eccentricity of the conics — — + — = 1is
a b
2 4 p2
N +b
b2
aZ — b2
B. 2
a2 — b2
C. 22
a2 — b2
D. .2
Answer: A

° Watch Video Solution

3. Find the equation of the tangent of the parabola y? = 8z

which is perpendicular to the line2z +y+ 1 =10

o Watch Video Solution



https://dl.doubtnut.com/l/_1LYvYlXjS3VV
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4. What loci do the equation represent in space?

z=20

o Watch Video Solution

5. Check the validity of the following statement " Square of

an integer is positive or negative " .

° Watch Video Solution

6. Construct truth table for ~[p V (~q)]

o Watch Video Solution
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7.Use p : | like my school
q : | like my class teacher .

Express follwing statements

()~[(-p) A q] (i) (-p) A ~q

o Watch Video Solution

8. Find the coordinates of the point equidistant from the

four points A(0,0,0) , B (a,0,0) , C(0,b,0) and D(0,0,c) .

o Watch Video Solution

9. Find the ratio in which the line joint of A (2,1,5) and B(3,4,3)
is divided by the plane 2x 4+ 2y — 22 =1 . Also , find the

coordinates of the point of division .

[ - |
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l &J Watch Video Solution ]

10. Find the equation of the hyperbola whose foci are (8, 3)

and (0, 3) and eccentricity is 4/3.

o Watch Video Solution

1. Price relative means the ratio of price of a certain item in

current year to the price of that item in base year , expressed

A. percentage

B. multiple of 10


https://dl.doubtnut.com/l/_pjFWNepjlIoi
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C.X pw

D. none of these

Answer: A

o Watch Video Solution

2. In Spearman's rank correlation if m item have common

rank then th correction that is to be added with 2d? is


https://dl.doubtnut.com/l/_CrYO4qICTgBv
https://dl.doubtnut.com/l/_5RSdJ579TIuL

Answer: D

o Watch Video Solution

3. Find the covariance between X and Y when n

X =60,YY =60 and X XY = 305.

= 10 ,

o Watch Video Solution

4. The price relative to base 100 of a set of commodities are

as given in the following tabe :

Commodities

Price relative

"

(20

127

119

Find the index number using simple average of price

relatives .
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l o Watch Video Solution

5. If Cov(xy) = -2, Yy = 30, Yoz = 25 and Xzy = 140 , find

the number of observations .

° Watch Video Solution

6. The Spearman's rank correlation coefficient = I given

Z d? = 30.Find the number of observation.

o Watch Video Solution

7.Find Cov (X,Y) for the following data :

[x T s 4 3 2 i
| Y 4 2 10 8 6



https://dl.doubtnut.com/l/_DyfT6WQxEfaw
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I ° Watch Video Solution

8. An examination is taken at three centres each of the of
which has 100 candidates .
The mean marks and standard devaition for the each centre

are given below :

I iCentreB | Meam | SGadardDevistitn
1¥ centre 45 9.6
2™ centre 50 10.8
h_:w'd centre 43 9.0

Calculate the mean and standard deviation of all 300

candidates .

o Watch Video Solution
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9. Find the median for the following data

Height (in cm) . Number of plants
More than0 | 55 |
More th;n 10 50
More than 20 ' 40 ]
More than 30 ﬁ?.[]

More than 40 3

° Watch Video Solution

10. Daily absence from a school during three weeks is

recorded as follows :

L+ Monday Tuesday | Wednesday | Thursday Friday —|
Week 1 23 28 21 S 40 |
[ Week 2 38 52 43 58 63
[ Week 3 » 52 54 61 st | st

Draw a graph , illustrating the above data . Calculate the 5 -

days moving average and plot them on the same graph .

.Y
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| ¥ VIew Iext solution



https://dl.doubtnut.com/l/_iKH0qofkx4Dm

